6. How will you calculate ‘cash from operation’ ?
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7. State the main objectives of Financial statements.
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8. Calculate P/V ratio :

Period I (in %) Period II (in %)
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Note .— The question paper is divided into two Section
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A and B. Write answers as per the given
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9. Define Break-even point. Discuss its utility.
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Section—-A 8%x2=16

(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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What is meant by Cost ?
NG Y N ¥ O?
Define Indirect Labour.
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What is factory overhead ?
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Define Unit Cost.

THE ANTG 1 TR Hiferg |
What is sub-contract cost ?
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What is Variance ?
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(vii) Define Ratio.
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(viii) Give formula of P/V ratio.
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Section-B
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.
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. What are the objects of material control ? Give its

limitations.
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. Give a precise format of process cost account.
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. What is Budgetary control ? Give its advantages.
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. What do you mean by Idle time variance ? How

will you calculate it ? Give an example.
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